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18
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18

21

1,700

1,700,000 16 1,900,000 21
4,134 16 19,200 21
500 16 1,000 21







1,108 | 4874 | 0.44
A=2,961 H21 H21 H21 H21 12 12 12 12
A=2,083.83 H18 H20 H18 H20 888 888 888 888
900 900 900 0 900]...
A=1,470 H20 H20 H20 H20 46 46 46 46
A=313.42 H18 H20 H18 H20 123 123 123 123
0|
0
0|
NPO H18 H22 H18 H21 180 172 32 140 32
H18 H22 H18 H21 9 9 4 5 4
NPO H18 H22 H18 H18 4 4 1 3 1
PO H18 H22 H18 H21 4 4 2 2 2
366 358 208 150 208]...
(A+B) 1,108
o
L=560m o H16

o H22 H24 320

L 120 o H20 H21 16

L 600 o H21 H22 13

349
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